NC given - sign (6) NC given - sign (6) g-s(6) NC given - sign (6) NC given - sign (6)
Answers
(a) Complete the calculation || (a) Complete the calculation (a) Complete the calculation || (a) Complete the calculation
90 - 40 = ...... 90 - 40 = ...... (a) 50 90 - 40 = ...... 90 - 40 = ......
(b) Work out 40 - 10 (b)  Work out 40 - 10 (b)  Work out 40 - 10 (b)  Work out 40 - 10
................................................ (b) 30
(¢c) Complete the calculation || (¢) Complete the calculation (¢) Complete the calculation || (¢) Complete the calculation
70-60 = ...... 70-60 = ...... (¢) 10 70-60 = ...... 70-60 = ......
(d) Complete the calculation || (d) Complete the calculation (d) Complete the calculation || (d) Complete the calculation
80-10 = ...... 80-10 = ...... (d) 70 80-10 = ...... 80-10 = ......
(e) Work out 90 - 60 (e) Work out 90 - 60 (e) Work out 90 - 60 (e) Work out 90 - 60
................................................ (e) 30
(f)  Work out 30 -20 (f)  Work out 30 -20 (f)  Work out 30 -20 (f)  Work out 30 -20
................................................ (f) 10
(g) Complete the calculation || (g) Complete the calculation (g) Complete the calculation || (g) Complete the calculation
70-40 = ...... 70 -40 = ...... (g) 30 70-40 = ...... 70 -40 = ......
(h)  Work out 100 - 40 (h)  Work out 100 - 40 (h)  Work out 100 - 40 (h)  Work out 100 - 40
(h) 60

©O®SO

timelypractice.com

SRS Learning Limited



